Appendix C

Proof of Theorem 5.3.6 :

From (5.13) and (5.14), we can easily derive

ul” a(w,) = ul® + z,weul?, (C.1)

v Wqo) = Vi & — TaWaV, .
) b(wa) = vi¥ ) (C.2)
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Vi b (we) = — vV — z,v?.

From (5.56), (5.57) and B3,(S; — z,I1) 35, = 0, we have
u(—al) (a(wa) - -rozwaIl) = u(()a)7 (CB)

and

v (b(wa) + Tawaly) = v\, (C.4)

Then (5.55) follows by (C.1), (C.2), (C.3), and (C.4).

Use a similar approach in the proof of Theorem 5.3.1, we can prove that uga) ®
vi? u @ v —ul® @ v and u'? @ v — ul” @ vi? + ul” @ v'? are linearly
independent. O
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